Holistic Scoring Guide
Physics 20 Project

	Score
	Description

	5
	The nature of a response that will receive a score of 5 has the following characteristics:

( the response addresses, with appropriate knowledge, all the major concepts in the question

( the student applies major physics principles in the response

( the relationships between ideas contained in the response are explicit

( the reader has no difficulty in following the strategy or solution presented by the student

( statements made in the response are supported explicitly

Note: the response may contain minor errors of have minor omissions

	4
	The nature of a response that will receive a score of 4 has the following characteristics:
( the response addresses, with appropriate knowledge, all the major concepts in the question

( the student applies major physics principles in the response

( the relationships between the ideas contained in the response are implied

( the reader has some difficulty following the strategy or solution presented by the student

( statements made in the response are supported implicitly

Note: the response may contain errors or have omissions

The response is mostly complete and mostly correct, and contains some application of physics principles.

	3
	The nature of a response that will receive a score of 3 has the following characteristics:
( the response addresses, with some appropriate knowledge, all the major concepts in the question

( the student does not apply major physics principles in the response

( there are no relationships between the ideas contained in the response

( the reader may have difficulty following the strategy or solution presented by the student

	2
	The nature of a response that will receive a score of 2 has the following characteristic:
( the response addresses, with some appropriate knowledge, two of the major concepts in the question

	1
	The nature of a response that will receive a score of 1 has the following characteristic:
( the response addresses, with some appropriate knowledge, one of the major concepts in the question

	0
	The student provides a solution that is invalid for the question.


